Mitsubishi \GeneraI-Purpose\ Programmable Controller

Renewal Tool Conversion Adapter

Model
ERNT-CQTY414218

User’s Manual

ERNTSOOT L2

Installation Precautions

/\ CAUTION

@ Use the conversion adapter and conversion adapter anchor base in an environment of the
general specifications defined in the MELSEC-Q series CPU module user’'s manual. Failure to
do so could lead to electric shock, fire, malfunction or product failure or deterioration.

@ Do not come in direct contact with the conductive area of the conversion adapter. Doing so could
lead to system malfunction or failure.

@ Fully secure the conversion adapter and conversion adapter anchor base using the installation
screws, and tighten the installation screws securely within the specified torque range. Failure to
do so could cause the conversion adapter and anchor base to fall, resulting in conversion
adapter and conversion adapter anchor base damage.

@ Always check for correct match between MELSEC-Q Series and the conversion adapter.

Incorrect match can cause damage to the MELSEC-Q Series module.

Wiring Precautions

/\ WARNING

@ Be sure to shut off all phases of the external power supply before performing installation or wiring
work. Failure to do so could result in electric shock or product damage.

@ If you want to energize and run the unit after completing the installation and wiring work, be sure
to close the terminal block cover attached to the SYSMAC C series terminal block. Failure to do
so could result in electric shock.

/\ CAUTION

Model ‘ ERNT-CQTY414218

50CM-D180075-C(1602)

@ Properly wire the conversion adapter after verifying the rated voltage and terminal layout of the
input/output module to be used. Connecting a power supply with a different rating or improper
wiring could lead to fire or product failure.

@ Securely tighten the conversion adapter installation screws, conversion adapter anchor base
installation screws, SYSMAC C series terminal block installation screws and SYSMAC C series
connector installation screws within the specified torque range. A loose screw may result in a
short circuit, fire or malfunction. An excessively tightened screw may result in screw or
conversion adapter damage, causing the conversion adapter to fall, a short circuit or product
malfunction.

@ Do not allow foreign matter such as cuttings or wiring shavings to enter the conversion adapter or

MITSUBISHI ELECTRIC ENGINEERING COMPANY LIMITED

HEAD OFFICE: Hulic KUDAN BLDG.1-13-5, KUDANKITA CHIYODA-KU, TOKYO 102-0073, JAPAN
NAGOYA ENGINEERING OFFICE:139 SHIMOYASHIKICHO-SHIMOYASHIKI, KASUGAI, AICHI 486-0906, JAPAN

@ SAFETY PRECAUTIONS @

(Always read these precautions prior to use.)

Before using this product, please read this manual carefully and pay full attention to safety to ensure that
the product is used correctly.

The precautions presented in this manual are concerned with this product only. For Programmable
Controller system safety precautions, refer to the user's manual of the MELSEC-Q series CPU module
to be used.

In this manual, the safety precautions are ranked as “WARNING” and “CAUTION".

/\ WARNING

Indicates that incorrect handling may cause hazardous
conditions, resulting in death or severe injury.

Indicates that incorrect handling may cause hazardous

/\ CAUTION

conditions, resulting in medium or minor injury and/or property

e

damage.

Note that failure to observe the A CAUTION level instructions may lead to a serious consequence
according to the circumstances. Always follow the precautions of both levels because they are important
to personal safety.

Please keep this manual in an easy-to-access location for future reference, and be sure to provide the

manual to the end user.

module. Doing so could lead to fire, failure or malfunction.

Startup and Maintenance Precautions

/\ WARNING

@ Do not touch the terminals and connector during energization. Doing so could result in electric
shock or malfunction.

@ Be sure to shut off all phases of the external power supply before cleaning and retightening the
terminal screws. Failure to do so could lead to electric shock. Excessively tightened screws could
result in conversion adapter or input/output module damage, causing the conversion adapter to
fall, a short circuit or product malfunction.

/\ CAUTION

@ Do not disassemble or modify the conversion adapter. Doing so could lead to failure,
malfunction, injury or fire.

@ The conversion adapter case is made of resin. Do not drop or apply excessive impact to the
case. Doing so could lead to conversion adapter damage.

Disposal Precautions

/\ CAUTION

@ When disposing of the product, treat it as industrial waste.

@ ZEEIEE @
(EARTES @ 7%

ERA~®E, BFARDEAFR, FRTEIERE, Efi
e,
AFEMPIREREEFERUCH T SA~RBEXNAT. XT
ARIEEFR AR REEEEW, 155 R MAIMELSEC-Q
R YICPUIRIREVF P F AR

EXROREITENOT, REIEFUNFRSA [EE
mmEE] .

A FRRERBMEURERBKRER, 5lERT
- R EHF

AitE FNERBEURERERER, 5IETE
T GE BHBRUAERE.

BN, WIBERTE, DEEANFEHITHNET, thass
BATERR. TEMMIHNBRELEBNNE, BESL
ié‘ﬁr-o
ETEREATM, WESEMEE, HEBAEMTARL
.

[REFEZFT]

AFEE

@ HHGERR R EEE . HRERREEQRKIER.
SYSMAC CEFim FHER 31842 . SYSMAC CRYIZERZRRE
24¢ N EMERNHETTE AL IT R R IFie ST
¥, 2SBERE. KRIRHE. MRBRITEIR, §
A REE AR R AR RIE BL RS IR T S8 5% R B kiR
EfE.

@ FIEABIULTIBIIREAFRIHANEHIBE R RIE
RA. 2SBAR, 8, REE,

[ EEtFdEirEEEm]

A

[
of

@ EERIRE TEMIERTHEER . THESSBAMABEN
RENES

@ EFEHFRERXE iR TSR, HIUEIM RS R 2 8T I
EFF T WRALHEEIF, THELSFHME. R
ZRITHE R, RESEMEIERRRIAN/ MR
HOBHRM T S B =% . FEEREKIRENE.

M ==
A F =

@ ETEIFH. BEHIERE. SNTRISBME. ®
. ZHTAR.
@ HIRBECERHINTERAESIR, R iFR g e ]z

BRIZUR T . BN RE IR ISR .

N ==
A EE

[EFEEEm]

@ RIFEMELSEC-QZRFICPUIRER Al P F A sp i S A — AR AR IR
B TMEREIRER R N IRERREES .. MRE—HRN
RESEEUSMNOI R R, FTRESEME . KR IRENE.
B IIR R S 1.

@ FTEERMERRERFNSEID . EUTEEER
RGuREE. 8.

@ HIRBERRRERERREE S NBT R RIFR YIS
MUERE, RFEBENAENENHAEEENTISITE.
A REEE T S B IRIE AL 28 RATIRE A 2R E E S RIR.

@ % B WIHIAMELSEC-QR SRR B R BRNEA S D
IEffs. AHRAATRMAR, AR SFHBMELSEC-0RT!
RRIRIUE -

M ==
A I =

@ EFINERA~REN T EFMLIE.

Related Manuals

Manual Title

Manual No.

(Model Code) Remarks

MELSEC-Q Series
Building Block 1/0 Module
User’s Manual

SH-080042

By Mitsubishi Electric Corporation
(13JL99)

[(FZEEEFM]

AEE

@ IUFINERME N 2 AR T B T R B TR E MR ZF R
REHEET, FaEaSHAEDE~RRT.

@ R, E&EISTERZFHITER, BITHR, BHXKH
SYSMAC CERFum FHERIH FHES R . 2NRAR X AimFHEE
R, FIEESSHALE.

A FEE

@ FHAFERBAN/MLRRNTEBRE KR FHSIEIE
Tt TR IS AL AR ML 2k  E A A S T E E AR IR
Rk, SSBNRIHE,

EMC AND LOW VOLTAGE DIRECTIVES

Compliance to the EMC Directive, which is one of the EU Directives, has been a legal obligation for
the products sold in European countries since 1996 as well as the Low Voltage Directive since
1997.

Manufacturers who recognize their products are compliant to the EMC and Low Voltage Directives
are required to declare that print a "CE mark" on their products.

Authorized representative in Europe
Authorized representative in Europe is shown below.
Name: Mitsubishi Electric Europe BV
Address: Mitsubishi-Electric-Platz 1, 40882 Ratingen, Germany




1. Overview

This manual describes the Mitsubishi general-purpose Programmable Controller renewal tool
conversion adapter (ERNT-CQTY414218). The conversion adapter is a product that converts the
differences in SYSMAC C series and MELSEC-Q series pin assignments.

Once you have opened the packaging, verify that it contains the following products.

3. Conversion Adapter Product Specifications

Product Quantity
Conversion adapter 1
Mounting bracket 1
Mounting bracket fixing screw (M2.6 x 4) 2

2. Conversion Adapter Product Configuration
The conversion adapter is comprised of the following constituent products besides the adapter itself.
(1) Conversion Adapter Anchor Base (Sold Separately)

The conversion adapter anchor base secures the bottom of the conversion adapter and is required
for conversion adapter use. One anchor base is required per base.

Conversion Adapter Specifications

Anchor Base Model Type Weight (g)
ERNT-QF12 12-slot conversion adapter anchor base 620
ERNT-QF8 8-slot conversion adapter anchor base 435
ERNT-QF5 5-slot conversion adapter anchor base 290

(2) Base Adapter (Sold Separately)
The base adapter enables MELSEC-Q series installation using the installation holes of the
SYSMAC C series base unit. (Additional hole machining not required)

Specifications
Base Adapter Model | SYSMAC C Series | MELSEC-Q Series | Installable Conversion | Weight
Compliant Module | Compliant Module | Adapter Anchor Base (9)
ERNT-CQB081 C500-BC081/082 Q312B ERNT-QF12 892
C500-BC091 Q388 ERNT-QF8
C2000-BCO61 Q612B
C500-BI081 Q68B
C2000-B1083
ERNT-CQB051 C500-BC051/052 Q38B ERNT-QF8 710
C500-BC061 Q35B ERNT-QF5
C500-BI051 Q688
Q658
Q558
ERNT-CQB031 C500-BC031 Q35B ERNT-QF5 542
Q33B

Conversion Adapter SYSSMAC ¢ No. of Input MESLSEC'Q Conversion Adapter
Model eries Points eries Weight (g)
Module Model Module Model
ERNT-CQTY414218 C500-OD414 32 points QY41P 109
C500-0D218 32 points
Terminal| Signal Pin Signal
Name No. Name
0OUT00 B20 Y00
ouTo1 B19 Y01
ouT02 B18 Y02
0ouUT03 B17. Y03
OUTo4 B16 Y04
OMRON ouTo5 :ﬁ :gg MITSUBISHI
Terminal Block OUT06 513 Connector
ouTo? i Yor
- CoM |— B12 Y08 e
A0 5] ouTos B11 Y09 B20| O O\ A20
a1 lof e [ Te0 [ va | Bi3[33]a%
As 1 B3] ouT10 B | voB B17| 0 o | A17
A4 B4 oUT11 B3 Yoo B16| O O | A16
B5 B7 YOD B15| 0 O | A15
AS o2 ouT12 [ T v B14|0 o | A14
|A6 757 ouT13 ‘ B13/0 O | A13
HAZ "Bg oUT14 ‘7 B5 YOF B12[0 o | A12
A8 £ OUTT5 B4 Open B11| 0 o | A1
A9 B10 B3 Open B10| © © | A10
A10 com 4 B2 [12/24vDC B9 10 o A9
FAT1 LB +V { Tomavoa]| B8 |O O A8
INE = Bl [12/24vDC 8710 ol a7
A12 o 0ouT00
[A12 | A20 Y10 B6 |0 O A6
At13 213 oUT01
B14 A19 Y11 B5|0 o| A5
A4 E2] 0uT02 B4|O O| A4
B15 A18 Y12
N EAE ouTos AT_| vi3 B2 lo o A
Atz 2171 QOuTo4 A6 | i B1|0 o) A1
e1B1e ouT05 A5 | vis =
ouT06 A4 Y16
ouTo7 A3 Y17
COM |4 AR Y18
OuUT08 —1—1 Ji Al Y19
OUT09 | —— 1~ ———  Al0 YIA
ouT10 [ Y1B
ouT11 ’— A8 Y1C
ouT12 — A7 Y1D
ouT13 — I Y1E
ouT14 [ A5 Y1F
ouT15 M Open
COM —e— A3 Open
+  — A2 CcoM
|—E Al com

Conversion Adapter

Output Module Specification Comparison Chart

Model SYSMAC C Series MELSEC-Q Series
Specifications C500-0OD414 QY41P
No. of output points 32 points 32 points
Switching capacit 12 to 48V DC/0.3A 12 to 24V DC/0.1A
9 capacity (2.4A/common, 4.8A/Unit) (2A/common)
Response [ON Delay 0.2ms or less 1ms or less
time | OFF Delay 0.3ms or less 1ms or less

External connection system

38-point terminal block

40-pin connector

No. of points per common

16points (2 circuits)

32points (1 circuit)

Leak current

0.1mA or less

0.1mA or less

Surge killer None Available
None

Fuse None ("Protect"” exists.)

Internal current consumption 230mA or less 105mA

Model SYSMAC C Series MELSEC-Q Series
Specifications C500-0D218 QY41P
No. of output points 32 points 32 points
Switching capacit 12 to 24V DC/0.3A 12 to 24V DC/0.1A
g capacity (2.4A/common, 4.8A/Unit) (2A/common)
Response [ON Delay 0.2ms or less 1ms or less
time | OFF Delay 0.3ms or less 1ms or less

External connection system

38-point terminal block

40-pin connector

No. of points per common

16points (2 circuits)

32points (1 circuit)

Leak current

0.1mA or less

0.1mA or less

Surge killer Available Available

; None
Fuse Available ("Protect"” exists.)
Internal current consumption 230mA or less 105mA

Note:

1. Because the number of points per "common" is changed from 16 (2 circuits) to 32 (one circuit), a

change to the wiring will become necessary if SYSMAC C Series-side Terminal Nos. A8, A17, B8

and B17, and A18 and B18 are used in separation from each other.

2. For detailed specifications not stated in the Output Module Specification Comparison Chart and for

general specifications, refer to the user’s manual of the output module to be used.

4. Mounting and Installation

4.1 Handling Precautions

(1) Do not touch the terminals and connector during energization. Doing so could result in
electric shock or malfunction.

(2) Do not disassemble or modify the conversion adapter. Doing so could result in failure,
malfunction, injury or fire.

(3) Do not come in direct contact with the conductive area of the conversion adapter. Doing so
could result in system malfunction or failure.

(4) Fully secure the conversion adapter and conversion adapter anchor base using the
installation screws, and securely tighten the screws within the specified torque range.
Failure to do so could cause the conversion adapter and anchor base to fall, resulting in
conversion adapter and conversion adapter anchor base damage.

4.2 Use Precautions

Item Use Precautions
Wiring A wiring change is required if the COM terminals have been separated due to a
change in the number of points per common from 16 points (2 circuits) to 32 points (1
circuit).
Module width | Because the module width decreases (from 34.5mm to 27.4mm), the wiring area
dimension decreases. Verification prior to installation is required.

>

L

345 274
Depth The depth increases. Verification prior to installation is required.
SYSMAC C MELSEC-Q
series series
Conversion adapter
e—t Base adapter
Conversion adapter anchor base

‘100 ‘162,3 ‘

[

62.3mm(50.5mm)

The value in parentheses is the dimension when the base adapter is not used.

4.3 Installation Environment
For details of the installation environment, refer to the user's manual of the MELSEC-Q series CPU
module to be used.

5. Part Names and Installation Method

Q series module

Mounting bracket adapter accessory)
Mounting bracket fixing screw

SYSMAC C series terminal
block installation screw (M3)

Conversion adapter

SYSMAC C series
terminal block

Conversion adapter bottom
installation screw

e
Conversion adapter anchor base i screw @

M4 x 8 (conversion adapter anchor base accessory)

5.1 Installation Method
[1]1  Secure the conversion adapter anchor base to the base adapter or control panel using the
conversion adapter anchor base installation screws (M4 x 8) provided as an accessory.
(Two end locations)

[2] Secure the mounting bracket to the Q series module using the mounting bracket fixing

screws [M2.6 x 4 (conversion adapter accessory); two upper/lower locations].
[3] Mount the conversion adapter onto the mounting bracket.

[4]  Secure the conversion adapter using the conversion adapter installation screws (M3 x 18; 2
locations).

Precaution

Before tightening the installation screws, check that the Conversion Adapter has been
securely installed on the MELSEC-Q Series module. Tightening the screws in floating-off
state or tilting state will damage the Conversion Adapter installation screws and the

mounting bracket.

[5] Secure the conversion adapter using the conversion adapter bottom installation screw (M3 x
20; 1 location).

[6] Secure the SYSMAC C series terminal block to the conversion adapter using the terminal
block installation screws (M3; two upper/lower locations).

5.2 Tightening Torque
Tighten the module installation screws to the specified torque below. An inappropriate tightening torque
could cause the product to fall or result in a short circuit, product failure or malfunction.

Screw Location Tightening Torque Range

139 to 189N-cm

Conversion adapter anchor base installation screw (M4 screw)

Mounting bracket fixing screw (M2.6 screw) 20t0 29 N-cm
Conversion adapter bottom installation screw (M3 screw) 43 to 57 N-cm
Conversion adapter installation screw (M3 screw)
SYSMAC C series terminal block installation screw (M3 screw)
6. External Dimensions
Unit:mm
& T k Mounting bracket
5] @
IS
(<] || o)

LF

17.55

J
®
LAl
%
274
Duplication Prohibited
This manual may not be reproduced in any form, in part or in whole, without written permission

from Mitsubishi Electric Engineering Company Limited.
©2014 MITSUBISHI ELECTRIC ENGINEERING COMPANY LIMITED ALL RIGHTS RESERVED

MELSEC is a registered trademark of Mitsubishi Electric Corporation.
SYSMAC is a registered trademark of Omron Corporation.

‘ Product Warr.

y Details

Please confirm the following product warranty details prior to product use.

Gratis Warranty Terms and Gratis Warranty Range

If any fault or defect (hereinafter referred to as “Failure”) attributable to Mitsubishi Electric Engineering
Company Limited (hereinafter referred to as “MEE”) should occur within the gratis warranty period, MEE shall
repair the product free of charge via the distributor from whom you made your purchase.

[ ] Gratis Warranty Period
The gratis warranty period of this product shall be one (1) year from the date of purchase or delivery to
the designated place.
Note that after manufacture and shipment from MEE, the maximum distribution period shall be six (6)
months, and the gratis warranty period after manufacturing shall be limited to eighteen (18) months.
In addition, the gratis warranty period for repaired products shall not exceed the gratis warranty period
established prior to repair.

[ ] Gratis Warranty Range

The gratis warranty range shall be limited to normal use based on the usage conditions, methods and
environment, etc., defined by the terms and precautions, etc., given in the instruction manual, user’s
manual and caution labels on the product.

Warranty Period after Discontinuation of Production

(1) MEE shall offer product repair services (fee applied) for seven (7) years after production of the product
has been discontinued. Discontinuation of production shall be reported via distributors.
(2)  Product supply (including spare parts) is not possible after production has been discontinued.

Exclusion of Opportunity Loss and Secondary Loss from Warranty Liability

Regardless of the gratis warranty period, MEE shall not be liable for compensation for damages arising from
causes not attributable to MEE, opportunity losses or lost profits incurred by the user due to Failures of MEE
products, damages or secondary damages arising from special circumstances, whether foreseen or
unforeseen by MEE, compensation for accidents, compensation for damages to products other than MEE
products, or compensation for other work carried out by the user.

ges in Product Spe

The specifications given in the catalogs, manuals and technical documents are subject to change without
notice.

This document is a new publication, effective February 2016. Specifications are subject to change without
notice.

Developed February 2016
50CM-D180075-C



